Physics 11 Dynamics: Extra Practice Problems
Thursday, November 30, 201" 9:29 AM

One Body Problems  Always Draw the F.B.D. (you may need to use loose-leaf paper to solve these (need more room!))

1. A spring is used in a scale to weigh people. The scale surface will move up to a maximum of 1.50 cm. What spring constant should the spring
have to weigh people with a mass of up to 130 kg?
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2. An elevator is designed to accelerate its passengersat 1.50 m/s.  What is a 75.0 kg rideros apparent
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a. Accelerating from floor 1 upwards
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a. Decelerating to stop at floor 3
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a. Stationary at floor 3
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3. A worker is pushing a 250 kg crate along level ground, at a constant velocity, with a force of 1800 N.

a. What s the coefficient of friction between the crate angrthe ground?
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4. You are sitting in a boat. Your and the boats combined mass is 550 kg. You throw a 0.350 kg ball with an acceleration of 12.0 m/s:. What is your
(with the boat) acceleration?
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